COMMON CORE STANDARD CC.5.MD.2

Lesson Objective: Make and use line plots
with fractions to solve problems
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{ Aline plot is a graph that shows the shape of a data set by placing Xs above
each data value on a number line. You can make a line plot to represent a
data set and then use the line plot to answer questions about the data set.

Students measure the lengths of several seeds.
The length of each seed is listed below.

B R L ey

Yinch, Binch, Linch, Linch, 3inch. 3inch. 3inch. Yinch. 1i

5 inch, ) inch, 5 inch, - inch, £ inch, a inch, i inch, 7} inch, 5 inch X
=f X X
: thlt is the combined length of the seeds that 4 X X
. areg inch long? X X X
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, Step 1 To represent the different lengths of the seeds, ; ; ;
. draw and label a line plot with the data values Ji’ 1 and 4 2 4
'1 % Then use an X to represent each seed. The line plot Length of Seeds (in inches)
i has been started for you.
; Step 2 Thereare - __ Xs above 3—‘ on the line plot.
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Multiply to find the combined length of the seeds:

x = inch

The combined length of the seeds that are 1inch long is Linch.
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You can use the same process to find the combined lengths of

the seeds that are % inch long and % inch long.
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Use the data and the line plot above to answer the questions.

g 1. What is the total length of all the seeds 2. What is the average length of one of the
g that the students measured? seeds that the students measured?
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A clerk in a healthfood store'makes Bags of tmll mix. The amount of hes e S
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trail rnix in ‘each bag is Iisted below K

Th‘mk There ére,four -~pound bags
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it I.en,_g‘ths of gCrystals, _(m mches)
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8. What is the totaHehgth o[all the crystals in the bracelet’? PP i pct
9. What isthe’ a\/érage Iength of'each Crystal i *the I:.race‘let’P w o 30
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